JL_

Finding Commutative Property of Multiplication Name:

Deter mine which choice best showsthe commutative property of multiplication. Answers
1) A.7x1=7 2) A.(7Tx3)+(7Tx2=7x(3+2)
B.(7Tx2)x4=7x(2x4) B.7x3=3x7 L
C.7x2=2x7 C.7x1=7
D.(7Tx2)+(7Tx4)=7x(2+4) D.(7x3)x2=7x(3x2) 2.
3.
3) A.2x10=10x2 4) A.9x4=4x9 4.
B.(2x10)+(2x8)=2x(10+8) B.(9%x4)+(9%x5)=9x%x(4+5)
C.2x1=2 C.9x1=9 5.
D.(2x10)x8=2x(10x 8) D.(9%x4)x5=9x%x (4x5)
6.
7.
5 A.2x3=3x2 6) A.9x(B3+7)=(9%x3)+(9x%x7)
B.2x(3x5)=(2x%x3)x5 B.9x3=3x9 8.
C.2x(3+5=(2x3)+(2x%x5) C.O9x(3x7)=(9x3)x7
D.1x2=2 D.1x9=9 9
10.
7) A.5x(4+6)=(5%x4)+(5x6) 8 A.2x1=2 u
B.1x5=5 B.2x6)x0=2x(6x0) '
C.5x4=4x5 C.2x6=6%2
D.5x (4%x6)=(5x4)x6 D.(2x6) +(2x0)=2x (6+0) 12
9 A.(6x10)x1=6x(10x 1) 10) A.1x(10x3)=(1x10)x3
B.6x1=6 B.1x1=1
C.6x10)+(6x1)=6%(10+1) C.1x10=10x%x1
D.6x10=10x6 D.1x(10+3)=(1x%10)+(1x3)
11) A.7x1=7 12) A.9x5=5x9
B.(7x5)x4=7x(5x4) B.9x(5%x4)=(9%x5) x4
C.7x5=5x%x7 C.9x(5+4)=(9x5)+(9x%x4)
D.(7x5)+(7x4)=7x(5+4) D.1x9=9
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JL_

Finding Commutative Property of Multiplication Name. Answer Key
Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.7x1=7 2) A.(7Tx3)+(7Tx2=7x(3+2)
B.(7x2)x4=7x(2x4) B.7x3=3x7 . C
C.7x2=2x7 C.7x1=7
D.(7x2)+(7Tx4)=7x (2+4) D.(7x3)x2=7x(3x2) 2 _ B
3. A
3 A.2x10=10x2 4) A.9x4=4x9 a A
B. (2% 10) + (2x 8) =2 x (10 + 8) B.(9x4)+(9%x5)=9x (4+5)
C.2x1=2 C.9x1=9 5. A
D.(2x10)x8=2x(10x 8) D.(9%x4)x5=9x(4x5)
. B
7z C
5 A.2x3=3x2 6) A.9x(B3+7)=(9%x3)+(9x%x7)
B.2x(3x5)=(2x%x3)x5 B.9x3=3x9 8. C
C.2x(3+5=(2x3)+(2x%x5) C.O9x(3x7)=(9x3)x7
D.1x2=2 D.1x9=9 0. D
0. C
7) A.5x(4+6)=(5x4)+(5x%6) 8) A.2x1=2 C
B.1x5=5 B.(2x6) x0=2x (6 x0) 1.
C.5x4=4x%x5 C.2x6=6%2 A
D.5x (4%x6)=(5x4)x6 D.(2x6) +(2x0)=2x (6+0) 12
9 A.(6x10)x1=6x(10x 1) 10) A.1x(10x3)=(1x10)x3
B.6x1=6 B.1x1=1
C.(6x10)+(6x1)=6x(10+1) C.1x10=10x1
D.6x10=10x6 D.1x(10+3)=(1x%10)+(1x3)
11) A.7x1=7 12) A.9x5=5x9
B.(7x5)x4=7x(5x4) B.9x(5%x4)=(9%x5) x4
C.7x5=5x7 C.9% (5+4)=(9x5)+(9x4)
D.(7x5) +(7x4)=7x (5+4) D.1x9=9
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C:h Finding Commutative Property of Multiplication Name:

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.0x10=10x0 2) A.(Bx4)+(B8x7)=8x(4+7)
B.(0x10)+(0x7)=0x(10+7) B.(8x4)x7=8x(4x7) 1
C.0x1=0 C.8x1=8
D.(0x10)x7=0x (10x7) D.8x4=4x38 2
3.
3) A.8x(5x4)=(8x5) x4 4) A.10x(9x5)=(10x9) x5 4.
B.1x8=8 B.10x (9+5)=(10x9) + (10 x 5)
C.8x5=5x%x8 C.10x9=9x10 5.
D.8x(5+4)=(8%x5)+(8x4) D.1x10=10

5 A.3x(10x2)=(3x10)x2 6) A.0x(10x5)=(0x10)x5
B.1x3=3 B.0x (10+5) =(0x 10) + (0 x 5) 8.
C.3x(10+2)=(3x10)+(3x2) C.0x10=10x0
D.3x10=10x3 D.1x0=0 9
10.
7) A.2x9=9x2 8 A.(5x6)+(5x7)=5x(6+7) u
B.(2x9)x5=2x(9x05) B.6x6)x7=5x(6x7) '
C.(2x9)+(2x5=2x(9+5) C.5x1=5
D.2x1=2 D.5x6=6x5 12
9) A.1x10=10 10) A.5x2=2x5
B.10x (5+7)=(10x5)+(10x 7) B.5x(2+3)=(5x2)+(5x3)
C.10x5=5x10 C.5x(2x3)=(5%x2)x3
D.10x (5x7)=(10x5)x 7 D.1x5=5
11) A.4x1=4 12) A.(4x10)x1=4x(10x 1)
B.(4x6)+(4x8) =4x(6+8) B.4x1=4
C.(4x6)x8=4x(6x8) C.(4x10)0+(4x1)=4x(10+1)
D.4x6=6x%x4 D.4x10=10x4
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C:h Finding Commutative Property of Multiplication Name. Answer Key

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.0x10=10x0 2) A.(Bx4)+(B8x7)=8x(4+7)
B.(0x10)+(0x7)=0x(10+7) B.(8x4)x7=8x(4x7) LA
C.0x1=0 C.8x1=8
D.(0x10)x 7=0x (10 x 7) D.8x4=4x8 2. D
3.  C
3) A.8x(5x4)=(8x5) x4 4) A.10x(9x5)=(10x9) x5 4. C
B.1x8=8 B.10x (9+5)=(10x9) + (10 x 5)
C.8x5=5x8 C.10x9=9x10 5, D
D.8x(5+4)=(8x5)+(8x4) D.1x10=10
6. C
7 A
5 A.3x(10x2)=(3x10)x2 6) A.0x(10x5)=(0x10) x5
B.1x3=3 B.0x (10+5) =(0x 10) + (0 x 5) 8. D
C.3x(10+2)=(3x10)+(3x2) C.0x10=10x0
D.3x10=10x3 D.1x0=0 9 C
0. A
7) A.2x9=9x2 8) A.(5x6)+(5x7)=5x%x(6+7) u D
B.(2x9)x5=2x(9x05) B.6x6)x7=5x(6x7) '
C.2x9+(2x5)=2x(9+5) C.5x1=5 D
D.2x1=2 D.5x6=6x%5 12.
9) A.1x10=10 10) A.5x2=2x5
B.10x (5+7)=(10x5)+(10x 7) B.5x(2+3)=(5%x2)+(5x3)
C.10x5=5x10 C.5x(2x3)=(5%x2)x3
D.10x (5x7)=(10x5)x 7 D.1x5=5
11) A.4x1=4 12) A.(4x10)x1=4x(10x 1)
B.(4x6)+(4x8)=4x(6+8) B.4x1=4
C.(4x6)x8=4x(6x8) C.(4x10)0+(4x1)=4x(10+1)
D.4x6=6x%x4 D.4x10=10x4
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JL_

Finding Commutative Property of Multiplication Name:
Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.(3x6)x10=3x(6x10) 2) A.1x3=3
B.3x1=3 B.3x7=7x3 L
C.(83x6)+(3x10)=3x%x(6+10) C.3x(7+10)=(8x7)+(3x10)
D.3x6=6x3 D.3x(7x10)=(3x7)x 10 2.
3.
3) A.Ox(7+8)=(9x7)+(9%8) 4) A.9x(4x7)=(9x4)x7 4.
B.1x9=9 B.1x9=9
C.O9x7=7x%x9 C.9%x4=4x%x9 5.
D.9x(7x8)=(9%7)x8 D.9X(4+7)=(9%x4)+(9%x7)
6.
7.
5 A.2x1=2 6) A.1x6=6
B.(2x5)+(2x8)=2x(5+8) B.6x (8 x 10) =(6x 8) x 10 8.
C.2x5=5x%x2 C.6x8=8x%x6
D.(2x5)x8=2x(5x%8) D.6x (8 + 10) = (6 x 8) + (6 x 10) 9
10.
7 Alx1=1 8 A.3x10=10x3
B. (1x 0) x 10= 1 x (0 x 10) B.1x3=3 1.
C.1x0=0x1 C.3x(10x2) = (3% 10) x 2
D.(1x0) + (1 x 10) = 1 x (0 + 10) D.3x (10+2) = (3% 10) + (3% 2) 12
9) A.7x0=0x7 10) A.8x9=9x8
B.1x7=7 B.8x(9+3)=(8x9)+(8x%x3)
C.7x(0x3)=(7%x0)x3 C.8x(9x3)=(8%x9)x3
D.7x(0+3)=(7x0)+(7x3) D.1x8=8
11) A.(8x1)x10=8x (1x10) 12) A.4x(3+0)=(4x3)+(4%0)
B. (8 x 1) + (8 x 10) =8 x (1 + 10) B.1x4=4
C.8x1=1x8 C.4x(3x0)=(4x3)x0
D.8x1=8 D.4x3=3x4
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JL_

Finding Commutative Property of Multiplication Name. Answer Key

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.(3x6)x10=3x(6x10) 2) A.1x3=3
B.3x1=3 B.3x7=7x3 . _D
C.(83x6)+(3x10)=3x%x(6+10) C.3x(7+10)=(8x7)+(3x10)
D.3x6=6x3 D.3x (7x10)= (3% 7) x 10 2 _ B
.  C
3 A.9x(7+8)=(9%x7)+(9x%8) 4 A.9x(4xT7)=(9x4)x7 4. C
B.1x9=9 B.1x9=9
C.9x7=7x9 C.9x4=4x9 5. C
D.9x(7x8)=(9%7)x8 D.9X(4+7)=(9%x4)+(9%x7)
6. C
7. C
5 A.2x1=2 6) A.1x6=6
B.(2x5)+(2x8)=2x(5+8) B.6x (8x10)=(6x8) x 10 8. A
C.2x5=5x%x2 C.6x8=8x%x6
D.(2x5)x8=2x(5x%8) D.6x (8 + 10) = (6 x 8) + (6 x 10) 9 A
0. A
7 Alx1=1 8 A.3x10=10x3 C
B. (1x 0) x 10= 1 x (0 x 10) B.1x3=3 1.
C.1x0=0x1 C.3x(10x2)=(3%x10)x2 D
D.(1x0) + (1 x 10) = 1 x (0 + 10) D.3x (10+2) = (3% 10) + (3% 2) 12
9) A.7x0=0x7 10) A.8x9=9x8
B.1x7=7 B.8x(9+3)=(8x9)+(8x%x3)
C.7x(0x3)=(7%x0)x3 C.8x(9x3)=(8%x9)x3
D.7x(0+3)=(7x0)+(7x3) D.1x8=8
11) A.(8x1)x10=8x (1x10) 12) A.4x(3+0)=(4x3)+(4%0)
B. (8 x 1) + (8 x 10) =8 x (1 + 10) B.1x4=4
C.8x1=1x8 C.4x(3x0)=(4x3)x0
D.8x1=8 D.4x3=3x4
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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JL_

Finding Commutative Property of Multiplication Name:
Deter mine which choice best showsthe commutative property of multiplication. Answers
1) A.(2x6)x10=2x(6x10) 2) Adx@B+1)=@x3)+(@4x1)
B.2x1=2 B.4x3=3x4 1
C.(2%x6)+(2x10)=2x(6+ 10) C.4x(3x1)=(4x3)x1
D.2x6=6x2 D.1x4=4 2.
3.
3) A.2x(1x8)=(2x1)x8 4) A.3x(5x7)=B8x5)x7 4.
B.1x2=2 B.1x3=3
C.2x(1+8)=(2x1)+(2x8) C.3x5=5x3 5.
D.2x1=1x2 D.3x(5+7)=(3x5)+(3x7)
6.
7.
5 A.0x(2+7)=(0x2+(0x7) 6) A.9x1=1x9
B.OX(2x7)=(0x%x2)x7 B.9%x(1x10)=(9x1)x10 8.
C.1x0=0 C.1x9=9
D.0x2=2x0 D.9%(1+10)=(9%1)+ (9% 10) 9
10.
7) A.10x(6+1)=(10x6)+ (10x1) 8 A.(0x8)x6=0x(8x6)
B.1x 10 = 10 B.0x1=0 H
C.10x6=6x10 C.0x8=8x0
D.10x (6x 1) = (10x 6) x 1 D.(0x8) +(0x6)=0x (8+6) 12
9 A.(10x6)+(10x4)=10x (6+4) 10) A.10x(4x7)=(10x4)x7
B.10x1=10 B.10x4=4x10
C.10x6=6x10 C.1x10=10
D.(10%x6) x4=10x% (6 x 4) D.10x (4+7)=(10x4) +(10x 7)
11) A.(5x9+(5x0)=5x%x(9+0) 12) A.8x(2+7)=(8x2)+(8x7)
B.6x9)x0=5x(9x0) B.8x(2x7)=(8%x2)x7
C.5x1=5 C.8x2=2x8
D.5x9=9x5 D.1x8=8
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C:h Finding Commutative Property of Multiplication Name. Answer Key

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.(2x6)x10=2x(6x10) 2) Adx@B+1)=@x3)+(@4x1)
B.2x1=2 B.4x3=3x4 . _D
C.(2%x6)+(2x10)=2x(6+ 10) C.4x(3x1)=(4x3)x1
D.2x6=6x2 D.1x4=4 2. B
3. D
3) A.2x(1x8)=(2x1)x8 4) A.3x(5x7)=B8x5)x7 4. C
B.1x2=2 B.1x3=3
C.2x(1+8)=(2x1)+(2x8) C.3x5=5x3 5. D
D.2x1=1x2 D.3x(5+7)=(3x5)+(3x7)
6. A
7 C
5 A.0x(2+7)=(0x2+(0x7) 6) A.9x1=1x9
B.Ox(2x7)=(0x2)x7 B.9x(1x10)=(9x1)x10 8. C
C.1x0=0 C.1x9=9
D.0x2=2x0 D.9%(1+10)=(9%1)+ (9% 10) 9 C
0. B
7) A.10x(6+1)=(10x6)+ (10x1) 8 A.(0x8)x6=0x(8x6) D
B.1x 10=10 B.Ox1=0 .
C.10x6=6x10 C.0x8=8x0 C
D.10x (6x 1) = (10x 6) x 1 D.(0x8) +(0x6)=0x (8+6) 12
9 A.(10x6)+(10x4)=10x (6+4) 10) A.10x(4x7)=(10x4)x7
B.10x1=10 B.10x4=4x10
C.10x6=6x10 C.1x10=10
D.(10%x6) x4=10x% (6 x 4) D.10x (4+7)=(10x4) +(10x 7)
11) A.(5x9+(5x0)=5x%x(9+0) 12) A.8x(2+7)=(8x2)+(8x7)
B.6x9)x0=5x(9x0) B.8x(2x7)=(8%x2)x7
C.5x1=5 C.8x2=2x8
D.5x9=9x5 D.1x8=8
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JL_

Finding Commutative Property of Multiplication Name:

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.0Ox1=0 2 A.9x1=9
B. (0% 4)x6=0x(4x6) B.9x7=7x9 1
C.0x4=4x%0 C.(9%x7)x3=9x%x(7x%x3)
D.(0x4)+(0x6)=0x(4+6) D.(9%x7)+(9x3)=9x%x(7+3) 2.
3.
3) A.3x8=8x3 4) A.(9%x10)x2=9x(10x2) 4.
B.3x(8+6)=(3%x8)+(3x6) B.9x10=10%x9
C.1x3=3 C.(9%x10)+(9%x2)=9%x(10+2) 5.
D.3x(8x6)=(3%x8)x6 D.9x1=9
6.
7.
5 A.4x7=7x4 6) A.4x1=4
B.4x(7x0)=(4x7)x0 B.(4x7)+(4x0)=4x(7+0) 8.
CAx(7+0)=(4xT7)+(4x0) C.4x7=7x4
D.1x4=4 D.(4x7)x0=4x(7x0) 9
10.
7) A.(8x1)x3=8x(1x23) 8) A.(6x3)x9=6x(3x9) "
B.8x1)+(8x3)=8x(1+3) B.6x3)+(6x9) =6x(3+9) '
C.8x1=1x8 C.6x3=3x%x6
D.8x1=8 D.6x1=6 12
9 A.1x5=5x1 10) A.7x(1+8)=(7x1)+(7x8)
B.1x(5+10)=(1x5)+(1x10) B.7x(1x8)=(7%x1)x8
C.1x(5x10)=(1x5)%x10 C.lx7=7
D.1x1=1 D.7x1=1x7
11) A.4x(2x7)=(4x2)x7 12) A.2x7=7x2
B.4x(2+7)=(4x%x2)+(4x7) B.2x7)+(2x5)=2x(7+5)
C.4x2=2x%x4 C.2x1=2
D.1x4=4 D.(2x7)x5=2x(7x5)
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C:h Finding Commutative Property of Multiplication Name. Answer Key

Deter mine which choice best showsthe commutative property of multiplication. Answers
1) A.0Ox1=0 2 A.9x1=9
B.(0x4)x6=0x (4 x6) B.9x7=7x9 . C
C.0x4=4x%0 C.(9%x7)x3=9x%x(7x%x3)
D.(0x 4) +(0x6)=0x (4+6) D.(9x7)+(9x3)=9x (7+3) 2 _ B
3. A
3) A.3x8=8x3 4) A.(9%x10)x2=9x(10x2) 4. B
B.3x(8+6)=(3%x8)+(3x6) B.9x10=10%x9
C.1x3=3 C.(9%x10)+(9%x2)=9%x(10+2) 5. A
D.3x(8x6)=(3x8)x6 D.9x1=9
6. C
7 C
5 A.4x7=7x4 6) A.4x1=4
B.4x(7x0)=(4x7)x0 B.(4x7)+(4x0)=4x(7+0) 8. C
CAx(7+0)=(4xT7)+(4x0) C.4x7=7x4
D.1x4=4 D.(4x7)x0=4x(7x0) 9 A
0. D
7) A.(8x1)x3=8x(1x23) 8) A.(6x3)x9=6x(3x9) " C
B.8x1)+(8x3)=8x(1+3) B.6x3)+(6x9) =6x(3+9) '
C.8x1=1x8 C.6x3=3x%x6
_ _ 12 A
D.8x1=8 D.6x1=6
9 A.1x5=5x1 10) A.7x(1+8)=(7x1)+(7x8)
B.1x(5+10)=(1x5)+(1x10) B.7x(1x8)=(7%x1)x8
C.1x(5x10)=(1x5)%x10 C.lx7=7
D.1x1=1 D.7x1=1x7
11) A.4x(2x7)=(4x2)x7 12) A.2x7=7x2
B.4x(2+7)=(4x%x2)+(4x7) B.2x7)+(2x5)=2x(7+5)
C.4x2=2x4 C.2x1=2
D.1x4=4 D.(2x7)x5=2x(7x5)
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JL_

Finding Commutative Property of Multiplication Name:

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.10x(8x1)=(10x8)x1 2) A.2x1=2
B.10x (8+1)=(10x 8) + (10 x 1) B.2x1)+(2x6)=2x(1+6) 1
C.10x8=8x10 C.2x1=1x%x2
D.1x10=10 D.2x1)x6=2x(1x6) 2.
3.
3) A.(8x0)x1=8x(0x1) 4) A.9x10=10x9 4.
B.8x0=0x8 B.(9x10)+(9x3)=9x (10+3)
C.8x0)+(8x1)=8x(0+1) C.9x1=9 5.
D.8x1=8 D.(9%x10) x3=9x (10 x 3)
6.
7.
5 A.1x0=0 6) A.2x5=5x2
B.0x (10x3)=(0x10) x 3 B.1x2=2 8.
C.0x(10+3)=(0x10)+ (0% 3) C.2x(5+6)=(2x5)+(2x%6)
D.0x10=10x0 D.2x(5x6)=(2%x5)x6 9
10.
7) A.0x1=0 8 A.9x(0x4)=(9x0)x4 "
B.(0x5)x1=0x(5x1) B.1x9=9 '
C.(0x5+(0x1)=0x(5+1) C.9x(0+4)=(9x0)+(9x4)
D.0x5=5x0 D.9x0=0x9 12
9 A.2x9=9x2 10) A.(9x7)x6=9x(7x6)
B.2x9)x7=2%x(9x%x7) B.9x7=7x9
C.2x9)+(2x7)=2x(9+7) C.(9x7)+(9%x6)=9x(7+6)
D.2x1=2 D.9x1=9
11) A.8x1=8 12) A.(4x8)x9=4x(8x9)
B.8x7=7x8 B.(4x8)+(4x9)=4x(8+9)
C.8x7)+(8x0)=8x(7+0) C.4x8=8x4
D.(8x7)x0=8x(7x0) D.4x1=4
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C:h Finding Commutative Property of Multiplication Name. Answer Key

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.10x(8x1)=(10x8)x1 2) A.2x1=2
B. 10 x (8+ 1) = (10 x 8) + (10 x 1) B.(2x1)+(2x6)=2x (1+86) . C
C.10x8=8x10 C.2x1=1x%x2
D.1x10=10 D.2x1)x6=2x(1x6) 2. C
3. B
3) A.(8x0)x1=8x(0x1) 4) A.9x10=10x9 4. A
B.8x0=0x8 B. (9 x 10) + (9 x 3) =9 x (10 + 3)
C.(8x0)+(8x1)=8x%(0+1) C.9x1=9 5, D
D.8x1=8 D.(9%x10)x3=9x%(10x 3)
6. A
7 D
5 A.1x0=0 6) A.2x5=5x2
B.0x (10x3)=(0x10) x 3 B.1x2=2 8. D
C.0x(10+3)=(0x10)+ (0% 3) C.2x(5+6)=(2x5)+(2x%6)
D.0x10=10x0 D.2x(5x6)=(2%x5)x6 9 A
0. B
7) A.0x1=0 8 A.9x(0x4)=(9x0)x4 B
B.(0x5)x1=0x (5x 1) B.1x9=9 1.
C.(0x5)+(0x1)=0x(5+1) C.9% (0+4)=(9x%0)+(9x4) C
D.0x5=5x0 D.9x0=0x9 12
9 A.2x9=9x2 10) A.(9x7)x6=9x(7x6)
B.2x9)x7=2%x(9x%x7) B.9x7=7x9
C.(2x9+(2x7)=2%x(9+7) C.(9x7)+(9%x6)=9x (7 +6)
D.2x1=2 D.9x1=9
11) A.8x1=8 12) A.(4x8)x9=4x(8x9)
B.8x7=7x8 B.(4x8)+(4x9)=4x(8+09)
C.(8x7)+(8x0)=8x(7+0) C.4x8=8x4
D.(8x7)x0=8x(7x0) D.4x1=4
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Finding Commutative Property of Multiplication

Name:

Deter mine which choice best shows the commutative property of multiplication.

1)

3)

5)

7)

9)

11)

A.
.3x(5%x8)=(3x5)%x8
.3%x(5+8)=(3%x5)+(3x8)
.3x5=5x3

o0 w> O0O0w

OO0 w>»

o0 w > OO w >

o0 w >

1x3=3

(Ox1)+(9x4)=9x%x(1+4)
.9x1=9
.(9%x1)x4=9x%x(1x4)
9x1=1x9

.(8x0)+(8x1)=8x(0+1)
.8x0=0x8
.(8x0)x1=8x(0x1)
.8x1=8

1x7=7

LTx2=2x%x7
Ix(2+0)=(7x2)+(7x0)
Ax2x0)=(7%x2)%x0

.(5x6)x7=5x(6x7)

5x1=5

.5%x6=6x%x5
.(5%x6)+(5x7)=5x(6+7)

.9x4=4x9
L9x(4x2)=(9x4)x2

1x9=9

LOx (4+2)=(9x4)+(9x2)

2) A.
B.
C.
D.

4)

o0 w>

6)

OO0 o>

8)

o0 w >

10)

o0 w >

12) A.
B.
C.
D.

5x(6x3)=(5%6)x3
1x5=5
5x(6+3)=(5%6)+(5x3)
5x6=6x%x5

.(8x10)+(8x3)=8x(10+3)
.8x10=10x%x8
.(8%x10)x3=8x(10x% 3)
.8x1=8

9% (1x8)=(9%x1)x8
9% (1+8)=(9%x1)+(9%8)
.9%x1=1x%x9

.1x9=9

TxA=4x7T
.7 % (4+10) = (7 x 4) + (7 x 10)

1x7=7

7% (4% 10)=(7x 4) x 10

3x(6x1)=3%x6)x1
.3X6=6x%3

1x3=3

.3x(6+1)=(3x6)+(3x1)

(1x8)+(1x10)=1x(8+10)
1x8=8x1

1x1=1
(1x8)x10=1x(8x10)

Answers

10.
11

12.
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Finding Commutative Property of Multiplication Name:

Answer Key

Deter mine which choice best shows the commutative property of multiplication.

1) A.1x3=3
B.3x(5x8)=(3x5)x8
C.3x(5+8)=(3%x5)+(3x8)

D.3x5=5x3

3 A.(9x1)+(9x4)=9x(1+4)
B.9x1=9
C.(9%x1)x4=9x%x(1x4)
D.9x1=1x9

5 A.(8x0)+(8x1)=8x(0+1)
B.8x0=0x8
C.(8x0)x1=8x(0x1)
D.8x1=8

7)) A1lx7=7
B.7x2=2x7
C.7x(2+0)=(7x2)+(7x0)
D.7x(2x0)=(7%x2)x0

9) A.5x6)x7=5x(6x7)
B.5x1=5
C.5x6=6x%x5
D.(5x6)+(5x7)=5x(6+7)

11) A.9x4=4x9
B.O9x(4%x2)=(9%4)x2
C.1x9=9
D.9%x(4+2)=(9%4)+(9x%x2)

2) A.5x(6x3)=(5%x6)x3

B.1x5=5
C.5x(6+3)=(5%x6)+(5x3)
D.5x6=6x5

4) A.(8x10)+(8x3)=8x(10+3)
B.8x10=10x8
C.(8x10)x3=8x(10x%x3)
D.8x1=8

6) A.9x(1x8)=(9x1)x8
B.Ox(1+8)=(9x1)+(9x%8)
C.9x1=1x9
D.1x9=9

8 A.7x4=4x7
B. 7% (4+10)=(7x4)+ (7% 10)
C.1lx7=7
D.7x(4%x10)=(7x4)x10

10) A.3x(6x1)=(3x6)x1
B.3x6=6x3
C.1x3=3
D.3x(6+1)=(3%x6)+(3x1)

12) A.(1x8)+(1x10)=1x(8+10)
B.1x8=8x1
C.lx1=1
D.(1x8)x10=1x(8x10)

Answers
1 _D
2. D
s D
s, B
5. B
6. C
7 B
s A
o. C
0. B
1. A
1. B
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Finding Commutative Property of Multiplication Name:

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.(7x1)x9=7x(1x9) 2) A1x(0x7)=(1x0)x7
B.(7x1)+(7Tx9=7x(1+9) B.1x(0+7)=(1x0)+(1x7) 1
C.7x1=1x7 C.1x1=1
D.7x1=7 D.1x0=0x1 2.
3.
3) A.1x5=5 4 A.1x0=0 4.
B.5x(9+0)=(5%9)+(5x0) B.0x9=9x0
C.5x(9x0)=(5%x9)x0 C.Ox(9x1)=(0x9 x1 5.
D.5x9=9x5 D.OX(9+1)=(0x9)+(0x1)
6.
7.
5 A.5x1=1x5 6) A.3x1=3
B.(5x1)x9=5x(1x9) B.3x4=4x3 8.
C.5%x1)+(5x9) =5x(1+9) C.3x4)+(3x5)=3x%x(4+5)
D.5x1=5 D.(3x4)x5=3x(4x%5) 9
10.
7) A.8x(3+5)=(8x3)+(8x5) 8 A.8x(3+6)=(8x3)+(8x6) u
B.8x3=3x8 B.8x(3x6)=(8x3)x6 '
C.8x(3x5)=(8x3) x5 C.1x8=8
D.1x8=8 D.8x3=3x8 12
9 A.(5x8)+(5x3)=5x(8+3) 10) A.10x1=10
B.(5x8)x3=5x(8x3) B.(10x6) x5=10x (6 x 5)
C.5x8=8x5 C.10x6=6x10
D.5x1=5 D.(10x6)+(10x5)=10x (6 +5)
11) A.8x(7x4)=(8x7)x4 12) A.6x(4x1)=(6x4)x1
B.8x(7+4)=(8x%x7)+(8x4) B.6x(4+1)=(6%x4)+(6x1)
C.1x8=8 C.6x4=4x%x6
D.8x7=7x8 D.1x6=6
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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C:h Finding Commutative Property of Multiplication Name. Answer Key

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.(7x1)x9=7x(1x9) 2) A1x(0x7)=(1x0)x7
B.(7x1)+(7x9) =7x(1+9) B.1x(0+7)=(1x0)+(1x7) . C
C.7x1=1x7 C.1x1=1
D.7x1=7 D.1x0=0x1 2. D
3. D
3) A.1x5=5 4) A.1x0=0 s B
B.5x(9+0)=(5x9)+(5x0) B.0x9=9x0
C.5x(9x0)=(Bx9 x0 C.OxX(9x1=(0x9 x1 5. A
D.5x9=9x5 D.OXx(9+1)=(0x9+(0x1)
6. B
7 B
5 A.5x1=1x5 6) A.3x1=3
B.(5x1)x9=5x(1x9) B.3x4=4x3 8. D
C.5%x1)+(5x9) =5x(1+9) C.3x4)+(3x5)=3x%x(4+5)
D.5x1=5 D.(3x4)x5=3x(4x%5) 9 C
0. C
7) A.8x(3+5)=(8x3)+(8x5) 8 A.8x(3+6)=(8x3)+(8x6) u D
B.8x3=3x8 B.8x(3x6)=(8x3)x6 '
C.8x(3x5=(8x3)x5 C.1x8=8 C
D.1x8=8 D.8x3=3x8 1
9 A.(5x8)+(5x3)=5x(8+3) 10) A.10x1=10
B.(5x8)x3=5x(8x3) B.(10x6) x5=10x (6 x 5)
C.5x8=8x5 C.10x6=6x10
D.5x1=5 D.(10%x6) + (10x5)=10x (6 +5)
11) A.8x(7x4)=(8x7)x4 12) A.6x(4x1)=(6x4)x1
B.8x(7+4)=(8x7)+(8x4) B.6x(4+1)=(6x4)+(6x1)
C.1x8=8 C.6x4=4x6
D.8x7=7x8 D.1x6=6
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C:h Finding Commutative Property of Multiplication Name:

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.10x1=10 2) A.1x5=5
B. (10 x5) x2=10x (5% 2) B.5x(0x10)=(5x0) x 10 1
C.10x5=5x10 C.5x(0+10)=(5x0) + (5% 10)
D.(10x5)+(10x2)=10x (5+2) D.5x0=0x5 2.
3.
3 A.1x2=2x1 4 A.(7Tx4)x0=7x(4x%0) 4.
B.1x1=1 B.7x4=4x7
C.1x(2x9=(1x2)x9 C.7x1=7 5.
D.1x(2+9=(1x2)+(1x9) D.(7x4)+(7x0)=7x(4+0)

5) A.3x(9x4)=(3x9) x4 6) A.3x4=4x3
B.1x3=3 B.(3x4)x6=3x(4x%6) 8.
C.3x(9+4)=(3x9)+(3x4) C.(3x4)+(3x6)=3x%x(4+6)
D.3x9=9x3 D.3x1=3 9
10.
7) A (9x4)+(Ox1)=9x(4+1) 8) A.10x6=6x 10
B.(9x4)x1=9x (4x1) B.10x 1= 10 1.
C.9x1=9 C.(10x 6) x 4=10x (6 x 4)
D.9x4=4x9 D. (10 x 6) + (10 x 4) = 10 x (6 + 4) 12
9 A.10x6=6x10 10) A.7x(2+6)=(7x2)+(7x6)
B. (10x6) x5=10x% (6 x 5) B.7x2=2x7
C.10x1=10 C.7x(2x6)=(7x2)%x6
D.(10%x6) +(10%x 5)=10x (6 +5) D.1x7=7
11) A.4x1=4 12) A.10x(3x1)=(10x3)x1
B.4x3=3x4 B. 10 x (3+ 1) = (10 x 3) + (10 x 1)
C.(4x3)x8=4x%x(3x8) C.10x3=3x10
D.(4%x3)+(4x8) =4x(3+8) D.1x10=10
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C:h Finding Commutative Property of Multiplication Name. Answer Key

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.10x1=10 2) A.1x5=5
B.(10x5)x2=10x (5% 2) B. 5x (0x 10) = (5 x 0) x 10 . C
C.10x5=5x10 C.5x(0+10)=(5x0) + (5% 10)
D. (10 x 5) + (10 x 2) = 10 X (5 + 2) D.5x0=0x5 2 D
3. A
3) A.1x2=2x1 4) A.(Tx4)x0=7x(4x0) s B
B.1x1=1 B.7x4=4x7
C.1x(2x9=(1x2)x9 C.7x1=7 5, D
D.1x(2+9=(1%x2)+(1x9) D.(7x4)+(7x0)=7x(4+0)
6. A
7 D
5) A.3x(9x4)=(3x9) x4 6) A.3x4=4x3
B.1x3=3 B.(3x4)x6=3x(4x%6) 8. A
C.3x(9+4)=(3%x9)+(3x4) C.83x4)+(3x6)=3x%x(4+6)
D.3x9=9x3 D.3x1=3 9 A
0. B
7) A.(9x4)+(9x1)=9x(4+1) 8) A.10x6=6x 10 B
B.(9x4)x1=9x (4x1) B.10x 1= 10 1.
C.9x1=9 C. (10 x 6) x 4= 10 x (6 x 4) C
D.9x4=4x9 D. (10 x 6) + (10 x 4) = 10 x (6 + 4) 12
9 A.10x6=6x10 10) A.7x(2+6)=(7x2)+(7x6)
B. (10x6) x5=10x% (6 x 5) B.7x2=2x7
C.10x1=10 C.7x(2x6)=(7x2)%x6
D.(10%x6) +(10%x 5)=10x (6 +5) D.1x7=7
11) A.4x1=4 12) A.10x(3x1)=(10x3) x1
B.4x3=3x4 B. 10 x (3+ 1) = (10 x 3) + (10 x 1)
C.(4x3)x8=4x%x(3x8) C.10x3=3x10
D.(4x3)+(4x8) =4x (3+8) D.1x10=10
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Finding Commutative Property of Multiplication Name:

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.1x(0x10)=(1x0)x10 2) A.(7Tx2)+(7Tx6)=7x(2+6)
B.1x(0+10)=(1x0)+(1x10) B.7x2=2x7 1
C.1x1=1 C.7x1=7
D.1x0=0x1 D.(7x2)x6=7x(2x6) 2.
3.
3) A.8x(6+2)=(8x6)+(8x2) 4) A.1x7=7 4.
B.8x(6x2)=(8x6)x2 B.7x(9+1)=(7x9) +(7x1)
C.8x6=6x8 C.7x9=9x7 5.
D.1x8=8 D.7x(9x1)=(7x9) x1
6.
7.
5 A.4x(7+5)=(4x7)+(4%x5) 6) A.Ox(9x1)=(0x9)x1
B.4x7=7x4 B.OX(9+1)=(0x%x9)+(0x1) 8.
C.1x4=4 C.0x9=9x0
D.4x(7x5)=(4x7)x5 D.1x0=0 9
10.
7) A.0x1=1x0 8) A.(4x5)+(4x3)=4x(5+3) u
B.(0x1)+(0x9)=0x(1+9) B.(4x5)x3=4x(5x3) '
C.(0x1)x9=0x%x(1x9) C.4x1=4
D.0x1=0 D.4x5=5x4 12
9) A.1x2=2 10) A.2x5=5x2
B.2x8=8x2 B.2x(5x9)=(2x%x5)x9
C.2x(8x3)=(2%x8)x3 C.1x2=2
D.2x(8+3)=(2%x8)+(2x3) D.2x(5+9)=(2x%x5)+(2x9)
11) A.5x(8x3)=(5x8)x3 12) A.4x8=8x4
B.5x(8+3)=(5x8)+(5x3) B.(4x8)+(4x10)=4x(8+10)
C.5x8=8x5 C.(4x8)x10=4x(8x10)
D.1x5=5 D.4x1=4
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C:h Finding Commutative Property of Multiplication Name. Answer Key

Deter mine which choice best shows the commutative property of multiplication. Answers
1) A.1x(0x10)=(1x0)x10 2) A.(7Tx2)+(7Tx6)=7x(2+6)
B. 1x (0+10) = (1 x 0) + (1 x 10) B.7x2=2x7 . D
C1lx1=1 C.7x1=7
D.1x0=0x1 D.(7x2)x6=7x(2x6) 2. B
3.  C
3) A.8x(6+2)=(8x6)+(8x2) 4 A1x7=7 . C
B.8x(6%x2)=(8%6)x2 B.7x(9+1)=(7x9) +(7x1)
C.8x6=6x8 C.7x9=9x7 5, B
D.1x8=8 D.7x(9%x1)=(7x9) x1
6. C
7 A
5 A.4x(7+5)=(4x7)+(4%x5) 6) A.Ox(9x1)=(0x9)x1
B.4x7=7x4 B.OX(9+1)=(0x%x9)+(0x1) 8. D
C.1x4=4 C.0x9=9x0
D.4x(7x5)=(4x7)x5 D.1x0=0 9 B
0. A
7) A.0x1=1x0 8) A.(4x5)+(4x3)=4x(5+3) u C
B.(0x1)+(0x9)=0x(1+9) B.(4x5)x3=4x(5x3) '
C.(0x1)x9=0x%x(1x9) C.4x1=4 A
D.0x1=0 D.4x5=5x4 12.
9) A.1x2=2 10) A.2x5=5x2
B.2x8=8x2 B.2x(5x9)=(2x%x5)x9
C.2x(8x3)=(2%x8)x3 C.1x2=2
D.2x(8+3)=(2%x8)+(2x3) D.2x(5+9)=(2x%x5)+(2x9)
11) A.5x(8x3)=(5x8)x3 12) A.4x8=8x4
B.5x(8+3)=(5%8)+(5x3) B.(4x8)+(4x10)=4x(8+10)
C.5x8=8x5 C.(4x8)x10=4x(8x10)
D.1x5=5 D.4x1=4
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